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5 Dynamic range

FADC(RPV-160) O dynamic range 000000000 chO0OOOOOOOODODODODO-
64mV0O-321mVO-65TmV OO 0OO0OOOOOOOCOOO0ODOODOOOOOODOOODOObOOOO

ooooo 1m

0103000000 fittingDOOOO chO0D0O0O0O0OOOOOOOOOO (O 2)0

000O0O0FADC(RPV-160) D OO +30mV -890mV 000000000 =3.6mV 0000

gbboobogoobogn

01 -64mV0O-321mVO-657TmV 0000000

00 mV]=ax0O0O +b

0 -64mV | -321mV | -657mV
chO | 27.7333 | 98.1437 | 190.475
chl | 26.9067 | 97.2643 | 188.305
ch2 | 25.9610 | 98.4733 | 190.927
ch3 | 25.7037 | 96.9557 | 186.732
ch4 | 25.5273 | 97.9197 | 189.749
ch5 | 25.8527 | 99.2950 | 190.501
ch6 | 26.0353 | 98.3223 | 188.999
ch7 | 26.1323 | 99.1937 | 190.889
g
o2

a b

chO | -3.644 | 36.88

chl | -3.675 | 35.44

ch2 | -3.596 | 30.73

ch3 | -3.685 | 32.72

ch4 | -3.613 | 29.87

ch5 | -3.605 | 31.96

ch6 | -3.642 | 33.04

ch7 | -3.602 | 32.33




-100

-200

-300

-401

S

-500

-600

-700

-100

=200

-300

=401

=3

-500

-600

-700

0.127/1
36.88 + 0.3852
-3.644 + 0.003088

T
100 120 140 160

O 2 chO

[
180 200

*x2 I ndf 1.499 /1
p0 35.44+ 1.32
p1 -3.675 + 0.0107

P
100 120

0 3 chl

P
140 160

180 200




-100

-200

-300

-401

S

-500

-600

-700

x2 I ndf

pOo
p1

8.88/1
30.73+3.184
-3.596 + 0.02548

100 120

04 ch2

[
140 160

-100

-200

-300

-401

=3

-500

-600

-700

180 200
¥2 I ndf 19.29/1
po 3272+ 4.7
p1 -3.685+ 0.03849

100 120

05 ch3

P
140 160

180 200




2T ndf 12.89/1
pO 20.87 +3.829
F p1 -3.613+ 0.03084
-100—
-200—
-300—
-400—
-500—
-600—
FOO= L
100 120 140 160 180 200
06 ch4
2T ndt 37.461 1
po 31.96 + 6.555
E p1 -3.605 + 0.05247
-100—
-200—
-300—
-400—
-500—
-600—
FOOE= Ll e )
80 100 120 140 160 180 200
O 7 chb
¥2 I ndf 24.23/1
po 33.04 +5.282
E p1 -3.642 + 0.04263
-100—
-200—
-300—
-400—
-500—
-600[—
TOOT L L A

100

08

[——
120 140

ch6

160

180 200




%2 I ndf 23.63/1

po 32.33+5.209
p1 -3.602 + 0.04164

]
°
=3

]
[
=3
S

-401

S

1
a
=3
=]

=60

=3

-700 T I IR |

o b b b b |
20 40 60 80 100 120 140 160 180 200

09 ch7

6 BBe00O0D0O000O0O

00000 ¥Be0 0000000000 0N00N0N0O0N0N0O0N0NOOooon
oooooo

Drift Top -3195V
GEM Top -526V
GEM Bottom -499V
00000 460V
phillips777 O 40 O

O0ODAGEMUOOUOOUOOOOODAGEMO 300VO0O0O0OO0O0O0O0OCOO0OGEMOOOOOQO
0000000000000 00000phillips7770000000O0O0DOODOODOO
00000000 GEMOOODOOOOOOO0OO0OO0OO 480VvO0O0o0ooooooooooooo
0000000000000 0000bO0DbO0bO0DO R2400000000O00O0O0O0ODOO
00000000 0Discriminator O threshold 00000000000 OOOO 6 secO
delay OO DO OSTOPOODODODOODOD 6p secO00 30p secO00D000OO0OOOOOOOOOO
24y sec0 00000000 Base Line 0OOODOD0DODODOOODOOOOOOOOOOOOO
baseline 000 +50mV O 000000OCO0DOCOOOO charged 000O00ODOOOOOOO
baseline 0 0-50mV 00000000000 Threshold 00000000 OO0OOOOOODOOO
0000000 Threshold OO OOOOOOOOOO300000000000000000O0O
O0000000000000D0 charged 0OO0OO0ODOOODODOOOO
Oo0ooooo Qoo

Q=Areax1ch0O0ODO0OO x1lchODODODOODO /0000000 (2)

googo
00000000000 DO0 chOODOODOOODOO0OODOOODOODOOOO 10000



good

hist

Counts

250

200

150

100

50

0 L

X2/ ndf 95.82 /42
Constant 263.8+4.2
Mean 5229+3.1
Sigma 229.1+ 3.2

Illllllllllllllll l

1 111 111
200 400 600 800 100012001400160018002000
Charge(10e-12C)

010 *¥BeDOOODDOODOOOOD



( dooooood
RPV-1600 000000000000

e MakeFile

# target
TARGET = main

# suffix

ObjSuf = .0
SrcSuf = .cxX
ExeSuf =

# set suffixs

TARGETOBJ = $(TARGET)$(0bjSuf)
TARGETSRC = $(TARGET)$(SrcSuf)
TARGETEXE = $(TARGET)$ (ExeSuf)

# for linux

CXX = g++
CXXFLAGS= -02 -Wall -DSBS
LD = g++

LDFLAGS = -02 -Wall

LIBS
GLIBS

$ (SYSLIBS)
$ (SYSLIBS)

VME_0BJS = rpv160.0 rpv130.o0

all: $(TARGETEXE)

$ (TARGETEXE) : $(TARGETOBJ) $(VME_OBJS)

$(LD) $(LDFLAGS) $(LIBS) -o $(TARGETEXE) $(TARGETOBJ) $(VME_OBJS)

#mv $(TARGETEXE) main

#$ (TARGETOBJ) : $ (TARGETSRC)
# $(CXX) $(CXXFLAGS) -c -o $(TARGETOBJ) $(TARGETSRC) -I.



.CXX.0

$(CXX) $(CXXFLAGS) -c -o $@ $< -I.

.SUFFIXES : .o .cxx

clean:
rm -f *.0
rm —-f *~

rm -f main

main.cxx - main 0 O

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <ctype.h>
#include <errno.h>
#include <unistd.h>
#include <fcntl.h>
#include <signal.h>
#include <sys/types.h>
#include <sys/stat.h>
#include <sys/ioctl.h>
#include <sys/mman.h>
#include <sys/param.h>
#include <vmedrv.h>
#include <iostream>

#include <fstream>

#include "rpv160.h"
#include "rpv130.h"

#define BASE 0x80000000
#define INT_BASE 0x4000

using namespace std;
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RPV_130 *IpvVv;

void initialize(){
rpv = new RPV_1300);
rpv->0pen (INT_BASE) ;
rpv->Reset () ;
rpv->Level (0x00) ;

int main(int argc,char *argv[]){

int dev;
size_t map;
unsigned int addr;

int num;

if (arge '= 2){
cout << "ERROR : ./main [filename]" << endl;
exit(1);

}

char ofname[32];

sprintf (ofname,"%s.dat",argv[1]);

ofstream fout(ofname);

addr = init_fadc( &dev, BASE, &map );

set_fadc(addr) ;
clear_fadc(addr) ;

int flag;

for( int k = 0; k < 10000; k++){
start_fadc(addr) ;
flag = read_status(addr);

cout << "start : Ox" << hex << flag << dec << endl;

while(1){
sleep(1);
flag = read_status(addr);
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cout << "Ox" << hex << flag << dec << endl;
if (flag == 0x0)
break;

}

cout << "after Ox" << hex << read_add_count(addr) << endl;

num = data_num_fadc(addr) ;

int ch[8] [TAKE_CLOCK] ;

for( int i = 0; i < 8; i ++ ){

read_fadc(addr, num, i, &ch[i][0] );

for( int i = 0; i < TAKE_CLOCK; i ++ ){
fout << i << " ",
for( int j = 0; j < 8; j ++ ){
fout << ch[jl[i] << " ",
}

fout << endl;

rpv->Close();
end_fadc( dev, map, addr);
return O;

}
e rpvl160.h - 0O 0O0OO

#define TAKE_CLOCK 3000

#define MAX_CLOCK 8192

e rpvl60.cxx - 00O OO

#include "rpv160.h"

#include <iostream>
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using namespace std;

int data_num_fadc(unsigned int addr){
unsigned short *ptr;
int flag, num;
while(1){
//printf ("waiting\n");
//usleep(100);
ptr = (unsigned short *)(addr + 0x30004);

cout << "Status : 0x" << hex << *ptr << endl;

flag = *ptr & 0x20;
if (flag == 0)

break;
}
ptr = (unsigned short *)(addr + 0x30000);
num = *ptr - 1;
num = num * 2;

return num;

};

int read_add_count(unsigned int addr){
unsigned short *ptr;
ptr = (unsigned short *)(addr + 0x30000);
return *ptr;

};

int read_status(unsigned int addr){
unsigned short *ptr;
ptr = (unsigned short *)(addr + 0x30004);
return *ptr;

};

void read_fadc(unsigned int addr, int num, int ch, int *ch_data){

unsigned short *ptr;

int data[MAX_CLOCK];
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//int FADC_depth=3000;

//int MAX_num=8192;

num = num/2;

//if (num>FADC_depth){

//cout << "CH["<< ch <<"]" << endl;

for(int i=0; i<4096; i++){
ptr = (unsigned short *)(addr + i*2 + ch*0x2000) ;
data[2*i] = (kptr >> 8) & Oxff;
data[2*i+1] = *ptr & Oxff;

num = num*2;
if (num>TAKE_CLOCK) {
for( int i = num-TAKE_CLOCK; i < num; i ++ ){
*xch_data = datali];
ch_datat+;
}
}elsed{

MAX_CLOCK-TAKE_CLOCK+num; i < MAX_CLOCK; i ++){
datalil;

for( int i

*ch_data
ch_datat++;
}

for( int i = 0 ; i < num; i ++){

*ch_data = datali];

ch_datat++;

void start_fadc(unsigned int addr){

unsigned int *ptr;

ptr = (unsigned int *)(addr + 0x30008);
*ptr = 0x0001;
};

void stop_fadc(unsigned int addr){

unsigned int *ptr;
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ptr = (unsigned int *)(addr + 0x30008);
*ptr = 0x0002;
};

void clear_fadc(unsigned int addr){

unsigned int *ptr;

ptr = (unsigned int *)(addr + 0x30008);
*ptr = 0x0004;
};

void set_fadc(unsigned int addr){

unsigned short *ptr;

ptr = (unsigned short *)(addr + 0x20000);
*ptr = 0x0003;
ptr = (unsigned short *)(addr + 0x20002);
*ptr = 0x0012;
ptr = (unsigned short *)(addr + 0x20004);
*ptr = 0x5678;
ptr = (unsigned short *)(addr + 0x20006);

*ptr = 0x0003;

for(int i=0; i<8; i++){
ptr = (unsigned short *) (addr + 0x21002 + i*0x200);
*ptr = 0x0080;
}
};

unsigned int init_fadc(int *dev, long base, size_t *mapsize){

int offset, pagesize;

char *addr;

printf (" fadc base address : 0x%1x\n", base);
if ((xdev = open("/dev/vmedrv32d16", O0_RDWR)) == -1){

perror(" open : /dev/vmedrv32di6 ");
exit(1);



pagesize = getpagesize();
0x40000;

*mapsize

offset = base 7, pagesize;

base = base - offset;

addr (char *)mmap(0, *mapsize, PROT_READ|PROT_WRITE,
MAP_SHARED, *dev, base);

if (addr == MAP_FAILED){

perror (" mmap : fadc failed. ");
exit(1);

}

addr += offset;

printf (" pagesize : Ox%x\n", pagesize);
printf (" mapsize : Ox¥%x\n", *mapsize);
printf(" fadc address on linux : Ox’%x\n", (unsigned int) addr);

return (unsigned int)addr;

};

int end_fadc(int dev, size_t mapsize, unsigned int addr){
munmap ((char *) addr, mapsize);
close(dev);
printf (" memory : unmapped.\n");

return O;

};

chage.cxx - 0000000000000

/* 000000000000000
O0000000Omaen 00 WIDTHO OO O OO
+ 0000000 @oooooono) x/

/* 0000000 @OO0O0no) =/

#include <iostream>

#include <fstream>

#include <string>

#include <stdio.h>

#include <stdlib.h>

#include <math.h>



#define TAKE_CLOCK 3000 //0 00O CLOCK
#define TAKE_CH 4
#define PEAK_LENGTH 600 //PEAk 00 OO DELAY [

#define WIDTH 50 //000

using namespace std;

double chenge(double charge, int ch);

int main(int argc, char *argv[]){

if(argec =! 2){
cout << "OOOOODODODODOOOON\n";

return 1;

char ifname[32];
sprintf (ifname, "%s.dat", argv[1i]);

ifstream fin(ifname);

char ofname[32];
sprintf (ofname, "charge_%s.dat", argv[1]);
ofstream fout(ofname);

cout << ofname << endl;

double data_num;

int num, t, ch;

double charge[TAKE_CH];

double mean[TAKE_CH] ;

int data[TAKE_CH] [TAKE_CLOCK];
int clock;

int hit=0;

double hit_1=0;

// count data_num ////////////1/1/17/7//7777/7/77/7/7/7

ifstream fin_num(ifname);
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int num3, num2, chO, chl, ch2, ch3, cl;

num3 = 0;

num?2 = 0;

while(fin_num >> cl >> chO >> chl >> ch2 >> ch3){
num3++;
1f (c1==2999){

num2++;

}

data_num = num2;

cout << "DATA_NUM : " << data_num << endl;
fin_num.close();

[1717777777777777777777777777777777777777777777777777

for (num=0 ;num<data_num;num++){
//000
for(ch=0;ch<TAKE_CH;ch++){
charge[ch] = 0;
mean[ch] = 0;
}
//000 mean 0O OO
for(t=0;t<TAKE_CLOCK-PEAK_LENGTH;t++){
fin >> clock;//0000 CLOCKOODOOOOODO
for (ch=0;ch<TAKE_CH;ch++){
fin >> datalch] [t];
mean[ch] += (double)datalch][t];//00000000O00O0O0ODO
}
}
for (ch=0;ch<TAKE_CH;ch++){
mean[ch] = mean[ch]/(TAKE_CLOCK-PEAK_LENGTH);//00 000000

//00 charge 00O OO
/0000000000
for (t=TAKE_CLOCK-PEAK_LENGTH; t<TAKE_CLOCK;t++){
fin >> clock;
for(ch=0;ch<TAKE_CH;ch++){
fin >> datalch] [t];
}
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/0000000000000
for (t=TAKE_CLOCK-PEAK_LENGTH ; t<TAKE_CLOCK-500; t++){
//000000000000000
if ( data[0] [t] < mean[0]-50 ){
charge [0]

]
o

charge[1]
charge [2]

]
o O O

charge[3]
break;
}
for (ch=0;ch<TAKE_CH;ch++){

//0000000000
if (datalch] [t] > mean[ch]+ WIDTH){

if((datalch] [t-1] > mean[ch] + WIDTH&&datal[ch] [t+1] > mean[ch]+ WIDTH) | | (datal[ch] [t

charge[ch] = chargelch] - mean[ch] + datalch][t];

//hit 00000

for (ch=0; ch<TAKE_CH;ch++){
if (charge[ch] !=0){hit++;}
}

if (hit==1){

fout << num << " "

for (ch=0;ch<TAKE_CH;ch++){
fout << chenge(charge[ch],ch) << " ";

}

hit_1++;

fout << endl;

Yelseq{

fout << num << " "

for (ch=0; ch<TAKE_CH;ch++){
fout << chenge(chargel[ch],ch) << " ";

}

fout << endl;



hit=0;
}
cout << "1hit_data : " << hit_1 << endl;
double parcent =(double) (hit_1/data_num);

parcent = parcent*100;

cout << "parcent : " << parcent << endl;

fin.close();

fout.close();

return

0;

double chenge(double charge, int ch){

double

a[0]=3.
al1]=3.
al[2]=3.
a[3]=3.
al[4]=0.
a[5]1=0.
al[6]=0.
al7]=0.
double

double

charge

return

al8l; //1ch0000O00 (mV)
644,
675;
596;
685;

I
b
b

I

¢ O O O O

= 10.0; //1ch 000000 (nsec)
regis = 50; /0000000 (Q)

= charge * alch] * t / regis;

charge; // 0O00DOO0O0O0O (O)(*10e-12 C)
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